Name: ~ Date #39 Solve a system of inequalities
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. Graph and determine if the point (1, 2) 1s one of the solutions.
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7. Aclassis g going on a field trip to a Mexican restaurant. They have to speak everything in Spanish to earn
credit. There are only two menu items, tacos (x) and enchiladas (})@Ordtr no more than lm*ﬂ
C_can order at most $36 worth of lon Tacos cost $2 cach and enchtladds cost $4.

Write a system of inequalities. CM ¢ EEREEEEEEEEEEEEEE
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8. George and Sally are getting married. They WIH@EEISI 20 pegpﬁl the rehearsal dinner. Each person
who attends the rehearsal dinner is a part of the wed ling party and will receive a gift. The bride and groom’s

families have decided to split the expenses an@ope to spend less than $280. George’s famlly (x) will pay $T2>
per gift and Sally’s family will pay $8 per gift.

Write a system of inequalities. ERt: ViV
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